IL CANDIDATO ILLUSTRI:

1) COSA SONO LE “PARTITE DI GIRO”

2) QUALI LE PARTI DI UN PROVVEDIMENTO

.3) QUANDO SI VERIFICA UN DEBITO FUORI BILANCIO



IL CANDIDATO ILLUSTRI:

1) IL‘PIANO DEI CONTI E IL SIOPE
2) COSA SIGNIFICA: CONTROLLO DELLA SPESA IN UN ENTE

3) IL PIANO PERFORMANCE
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IL CANDIDATO ILLUSTRI:

1) LE VARIAZIONI DI BILANCIO

2) LE FONTI DI FINANZIAMENTO E LA LORO ALLOCAZIONE IN
BILANCIO

3) LA DIVISIONE TRA ORGANI POLITICI E ORGANI
GESTIONALI
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_IL CANDIDATO ILLUSTRI:

1) COME SI CONTABILIZZANO | TRASFERIMENTI EUROPE
NEL BILANCIO

2) | RESIDUI ATTIVI E PASSIVI E LA LORO RELAZIONE CON

IL RENDICONTO

3) GLI ORGANI DELLA PROVINCIA
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IL CANDIDATO ILLUSTRI:

1) LA LIQUIDAZIONE, LA PIATTAFORMA DEI CREDITI, LO SPLIT
PAYMENT

2) LE DIFFERENZE TRA BILANCIO E RENDICONT
3) LA DIFFERENZA TRA LA DELIBERAZIONE, IL DECRETO

PRESIDENZIALE E LE LA DETERMINAZIONE DIRIGENZIALE, A
CHI COMPETE L’ADOZIONE
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IL CANDIDATO ILLUSTRI:

1) IL CICLO DEL BILANCIO
2) COSA E' ATTESTAZIONE DELLA COPERTURA FINANZIARIA

3) COSA E’ IL PROVVEDIMENTO AMMINISTRATIVO E A COSA
SERVE '



Che cosa si intende per «Foglio di calcolo»?

\ﬁd\Un programma che permette I'elaborazione di tabelle
- con dati numerici

B) Un programma che e assimilabile ad una calcolatrice

C) Un programma che permette la:lettura ottica di fogli
con dati numerici |

D) Un programma per il calcolo geometrico
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Che cosa si intende per «Foglio di calcolo»?

A) Un programma che permette I'elaborazione di tabelle
con dati numerici ‘

B) Un programma che € assimilabile ad una calcolatrice

C) Un programma che permette la lettura ottica di fogli
con dati numerici
D) Un programma per. il calcolo geometrico
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Cosa e un Browser?

A) Un programma che consente di proteggere il
computer dai virus

B) Un programma che consente l'invio di posta
elettronica

C) Un programma che consente di costruire pagine
Web

) Un programma che consente di navigare in Internet



Cosa si deve conoscere, del destinatario, per inviare un
messaggio di posta elettronica?

A) L'indirizzo Internet del destinatario
“BY L'indirizzo E-Mail del destinatario

C) Il numero di telefono del destinatario
D) L'indirizzo del suo Provider



La capacita di un elaboratore di eseguire (dal punto di
vista dell'utente) piu attivita contemporaneamente come
viene definita?

A) Multitasking

) Juggling

) Looping

) Multiwindows



Cos'e un file con estensione .EXE?

A) E un file di testo

) E un file audio

) E un file eseguibile .
)

B
C
D) E un file di calcolo



A recently founded Chinese company is now the world's third-biggest
smartphone maker. The company is called Xiaomi, it is based in Beijing and
has a value of $45 billion, which is more than LG, Motorola and Sony put
‘together. Xiaomi has a unique business model: it sells its phones for what
they cost to make. Its profit comes from apps and software. However, not
everyone likes Xiaomi. Apple says that the company stole the design of its
iPhone and many ideas from Apple.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE

1) Xiaomi is the first smartphone maker in the world T / &
2) Xiaomi mobile phones are very expensive T/
3) Apple accuses Xiaomi of copying its phones }T<fF
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Starbucks U.K. will give customers a discount if they bring their own cup. The
company wants to reduce trash and recycle more. Starbucks U K. said:
‘Reusable cups are a key part of our waste reduction strategy." Customers
who bring their own cup will now get a discount on coffee. Around seven
million paper cups are thrown away every day. Customers might think a cafe
is environmentally friendly, but it is not. Fewer than one in 400 paper cups at
cafes are recycled.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE

1) Starbucks will give customers a cup as a Christmas present T/ F
2) Reusable cups can help reduce waste T/ F
3) Not many paper cups used at cafes are recycled T/ F
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The toy maker Lego said it will no longer continue its $110 million partnership
with the oil company Shell. Lego made toys with the Shell logo on them. Shell
sold the toys in its gas stations. Lego decided this after Greenpeace made a
video using Lego bricks. It showed Lego people and animals covered in oil
after an oil spill. At the end, oil covered everything, except a Shell flag. The
video is now Greenpeace's most-watched video in its history.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE

1) Lego stopped its partnership with Shell because of contractual
- problems T/F

2) Greenpeace used Lego bricks to make a video against Shell T/F
3) - The Greenpeace video has become viral T/ F
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Toyota decided to stop two elevators at its Tokyo headquarters to save
money. This will also save electricity and lower the costs of maintenance of
the building. One reason for doing this is the Japanese yen is becoming
stronger. A stronger yen means Toyota cars are more expensive and profits
go down. Toyota is also changing the temperature of air conditioners to save
money. These decisions show that Toyota is interested not only in saving
money but also in reducing waste.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE

1) Toyota closed two elevators at its headquarters because they were
dangerous T/ F

2) Toyota is making fewer profits because of the financial situation}( I F

3) Toyota is also switching off air conditioners to save money}l(@




The Internet is changing how we shop. More people shop online and not in -
real stores. This is having terrible effects for traditional stores in the U.K. A
report says that 47 per cent of stores (20,000 shops) are under financial
stress and a quarter will be disappeared in three years. The closure of
traditional shops has also produced "ugly" town centres. Stores haven't been
able to face the challenge of e-commerce. They need new ideas to get the
customers back.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE

1) Online shopping is damaging real stores T/ F
2) In three years, 20,000 new shops will open T/ F
3) Traditional stores haven't been able to compete with e-commerce T/ F



Japan does not have a sufficient number of workers, so it decided to find
them from other countries. The government prepared a plan to have 345,000
foreign workers for different jobs. Most will work in building, fishing,
healthcare and farming. They will be low-skilled workers and must speak
Japanese. If Japan does not change, it will be “in a very difficult situation”.

Japanese people are having fewer children. The population is diminishing
every year. :

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE

1) Japan needs to find more workers outside Japan\N E
2) The employed people will be high-profile workers T I\I'\
3) Japan’s inhabitants are growing every year T IT\




